BeSO4-4H,0 (H4s) Structure:
ABSC8D_t172_120_b_2i_2i_c-001

This structure originally had the label AB8C8D_tI72_120_c_2i_2i_b. Calls to that address will be redirected here.
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Prototype BeHgOgS

AFLOW prototype label ABSC8D_t172_120_b_2i_2i_c-001
Strukturbericht designation H4g

ICSD 23219

Pearson symbol t172

Space group number 120

Space group symbol I4c2

AFLOW prototype command  aflow --proto=AB8C8D_tI72_120_b_2i_2i_c-001
—~params=a, C/av T3,Y3,23,T4,Y4,24,T5,Y5,25, L6, Y6, 26

e The original determination of the H43 structure did not determine the positions of the hydrogen atoms. Since (Sikka,
1969) showed that the placement of they hydrogen atoms did not substantially affect the postions of the other atoms in
the primitive cell, nor change the space group, we retain the original Strukturbericht designation for the improved
structure.
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Body-centered Tetragonal primitive vectors

a; = —%ai—i— %a + %ci
ags = %af{—%ay—i—%ci
ag = 1aX+iay-—icz
Basis vectors
Lattice Cartesian Wyckoff Atom
coordinates coordinates position type
B, 0 = 0 (4b) Bel
B, %al + %ag = %ci (4b) Bel
Bs %al—i—iag—&—%ag = %ay—kici (40) ST
B4 %a1+%a2+%a3 = %a}‘chici (4C SI
Bs (ys + 2z3) a1 + (w3 + 23) as + = arsX +aysy +cz3 2 (161) HI
(z3 +y3) a3
Bs —(ys—23) a1 — (w3 —23) aa — = —ar3X —aysy + cz3 (161) HI
(73 +y3) a3
B, —(zg+2z3) a1+ (ys —23) aa — = aysX —arsy —cz3Z (161) HI
(3 —y3) a3
Bsg (3’53 — 23) a; — (yg + 2:3) as + = —ays X+ a.’lﬁgy —C237Z (16i) HI
(3 —y3) a3
By (7y3+2:3+%) a; + = angcfayg}“wac(z;;Jr%) Z (161) HI
(x5 +23+3) az + (x5 — y3) a3
Bio (ys+ 23+ 1) a1+ = —azsX+aysy+c(z+3) 2 (16i) HI
(23 + 23+ 3) ar— (23 — y3) as
Bi: (x5 — 23+ %) a1 + = aysX+awzy —c (23 — 1) 2 (16i) HI
(ys — 23+ 3) as + (z3 + y3) as
B12 - (ZZ?3+23— %) a; — = —aygk—azgy—c(zg - %) Z (161) HI
(ys + 23 — %) as — (x3 +ys3) ag
Bis (ya + 2z4) a1 + (24 + 24) a2 + = axsX+taysy +cz4z (161) HII
(4 +y4) a3
B4 — (y4 — 2’4) a; — (.734 — 24) as — = —ary X — ay4§f +cz4Z (161) HII
(x4 +y4) ag
Bis —(xa+tz4) a1+ (ys —24) a2 — = aysX — arsy — €242 (161) HII
(14 —ys) a3
Bis (x4 —2z4) a1 — (ya + 24) az + = —ays X +axsy — cz4Z (161) HII
(x4 —ya) a3
Bi7 (—ys+za+3) ar + = ars X —aysy+c(za+ %) 2 (16) HII
(z4+ 24+ 3) az + (x4 — ya) a3
Bis (ya+ 24+ 35) ar + = —azs X +ays§+c(za+ 1) 2 (161) H 11

(24 + 24+ 3) ar— (24 — yu) a3



Biy = (xa—za+ 1) ar + = aysX+arsy —c(za— 1) 2 (161) HII
(y4 — 24+ %) a + (v4 +ya) a3

B2y = —(za+z—3) & — = —ays X —azay —c(za—3) 2 (161) HII
(ya+ 24— 3) a2 — (x4 +y4) a3
Bar =  (ys+25) a1+ (#5+25) ag+ = azs X+ ays § + cz5 2 (161) Ol
(z5 +ys5) a3
B2z = —(y5—2) a1 — (25 —25) a2 — = —arsX —ays § +cz52 (161) Ol
(x5 +y5) a3
Bas = —(z5+2z5) a1+ (ys—25)aa— = ays X — arsy — c25 % (161) OI
(x5 — y5) a3
By = (x5 —25) a1 — (y5 + 25) az + = —ays X +axrsy — 25 2 (161) OI1I
(z5 — ys) a3
Bys = (—ys+25+3) a1 + = arsX —ays§+c (25 + 3) 2 (161) Ol
(25 + 25+ 3) az + (x5 — y5) as
Bag = (ys + 25 + ) a1 + = —azsX+ays§+c(z5+3) 2 (161) Ol
(—965 + 25 + %) az—(z5 — ys) as
Byr = (w5 —25+3) a1 + = ays X+ arsy —c(z5 — 3) 2 (161) Ol
(ys — 25+ %) ay + (v5 +ys5) a3
Bos = — (x5+z5— %) a; — = —ay5>2—ax5y—c(z5 — %) Z (161) Ol
(y5 + 25 — %) az — (5 +ys) a3
By = (y6 + 26) a1 + (2 + 26) az + = are X+ aysy + cz6 2 (161) O1II
(z6 +y6) a3
Bso = —(y6—2)a1—(r6—2) a2— = —argX —ayey + cz6 2 (161) oIl
(z6 + y6) a3
Bs: = —(z6+26) a1+ (ys—26) as— = ays X — argy — 262 (161) O1II
(z6 — o) a3
Bs, = (6 — 26) a1 — (ys + 26) Az + = —ayg X+ axgy — cz6 2 (161) oIl
(z6 — o) a3
Bs; = (—y6 + 26 + %) a; + = axgX —aysy + ¢ (26 + %) Z (161) OII
(z6 + 26 + 3) a2 + (z6 — y6) a3
B3y = (ys + 26 + 3) a1+ = —aze X +ays § + ¢ (26 + 3) 2 (161) O
(—CUG + 26 + %) az— (6 — Ys) a3
Bss = (z6 — 26 + 3) a1 + = ays X+ azgy —c (26 — 3) 2 (161) (O
(yﬁ — 26+ %) as + (w6 + ys) a3
B3g = — (x6 + 26 — %) a; — = —aygX —axgy — ¢ (zG — %) Z (161) oIl

(ya + 26 — %) ay — (z6 + ys) as
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